kLA

N R T

Iy

(-) % -
(=) %=

L gd = R4
2. FE A B24-364 - FL o A K484 2 B K =
3. HMIBBAEN L(HE » ¥ RG-Mailteg) - 'ZEW’“ (U
fLBr—"Ff BAEEPE o R LR 152 19D (- )+ £9:00 %
: https://forms. gle/PtS3RiH4Zda2aQ4LA
2 F-

LEG
(=)

Eﬁ\\ \\Xr

W

e s

5 LR AR i
D RFIE AL R LS4 072 21p ()58 8P (F) 0 2
i bt b F%Bj?.ﬁ;\ ) 1Ef1mﬁ§-$”"l‘

= 17921p(-)28%8p(7)"
3777 30-31p o FHmE E P ARRT (T o

t g = %W—f y — ?%Kbk’ﬂ\:(’}‘g_;}’g&j
O %Wi’ﬂgxﬁﬁan&j’ﬁzﬁﬁ*
: https://reurl.cc/9D022j

®
1 ﬁf%u pap
2.
3.

SR 2 E G E

’%&

Fehap o

FEH¥RPLAER(T-8Y B FHZ(GREN E)P wrp

114# 3% 25p F *53d i&
ARV AGRLFRR TR RGN TR RLF L EPA RN
3 5];}\§ 3_@;%, i‘gxigﬂ*i% y -pj,FLxg;fw ,F)‘ﬁp—‘ﬂaim; L ATRL ©
N Lf%ﬁpﬁ&b%#@_—’ FaN
CEAR RO A RGTA

Iz F A HEE o ke

ik - DT E X1 AN
&P HAz(2 60 ) o

SRA] AR RN A2 T
BrERLT) BF
67 13p (7 )T = 17:00.t -

(-) &= :f;tﬂ%iér}ﬂf?%}ﬁ
FIE | W2 : [
AB# 0
CD¥ | 4 2
(=) ==
FraE | @2 4 % B % | B T &2t
A¥ | 5 0 3 3 3 1 1 26
B¥ | 5 0 3 3 3 1 1 26
C¥ | 5 2 0 0 0 1 1 26
D¥ | 4 2 0 0 0 1 1 26
TR LB F AT AT = 4 o M1, 788 B o (Bt Y ¥
arsqz%’:)
I ~HMp P
()?%mﬁlm§ﬁ§¥ Fipip Higq o
(Z) ¥ R ALEE > TR LR R £ S T PP Y B

£ »Fmﬁti“ RAXNAFEP 2 2 B ki
K% ROAZ P RmELEHG R
S (S LR i"fﬁ’i‘} p
B RAR R £ o

AR e

HAT AL Fo kP F 3

S dgEE

(-) %ig

AR

Y

P leyEm .

LI F PRARZ 7 LR %37?""5 #:F%?{FH;E] 73R e

(P Mg » # ~ F o
ngzﬁké’u RIF- A2 - 5 Mo 2355 ;”F]Q’*‘ié'u)
» RFEITEE LM Lk HEs o 8D

C)FFFFDRF R TR TL > 4o BF - 520 2 ga@RGEa2fT B3PV 2RI P4

SERIEE R Lr e
Witz

%j"i/‘\—t'?vf‘ ‘fl L gz‘\?
’L Y d‘}'@":/f ;‘_%&‘g\ %—2‘ /H fé'a%& ’ ]1}

N ~$g-;%’_1 iT .

AR SRS DR R P > d B ITE R 0T
%4 fé‘?’v‘ BE P LT



https://forms.gle/PtS3RjH4Zda2aQ4LA
https://reurl.cc/9DO22j

